Test Bank Questions for Chapter 6

MULTIPLE CHOICE.  Circle the letter that provides the BEST answer for each question.  There is only one correct answer for each question.
  1.  Biogeochemical cycles: 

   A.  only include processes conducted by or within living organisms.

   B.  pertain only to the abiotic environment.

   C.  describe the movement of water and other materials throughout the abiotic and biotic environment.

   D.  only pertain to exchanges and interactions that occur within the atmosphere.

   E.  are used to describe the attempts of humans to recycle various pollutants.

  2.  Which of the following is NOT one of the biogeochemical cycles considered to have particular importance for organisms?

   A.  carbon 

   B.  hydrogen

   C.  nitrogen

   D.  phosphorus

   E.  water

  3.  Approximately what percentage of the atmosphere is CO2?
   A.    0.001%
   B.    0.03%
   C.  10%
   D.  30%
   E.  75%
  4.  Which of the following accurately represents a carbon source and the process which releases carbon from that source?

   A.  fossil fuels, respiration

   B.  animals, photosynthesis

   C.  plants, cell respiration

   D.  bicarbonate, combustion

   E.  limestone, combustion

  5.   As written the below chemical process occurs in which of the following?
6CO2  +  12H2O  +  RADIANT ENERGY  --->  C6H12O6  +  6H2O  +  6O2  

   A.  consumers

   B.  the abiotic atmosphere

   C.  decomposers

   D.  producers

   E.  scavengers

6.  Which of the following is NOT a source of carbon for the carbon cycle?

   A.  shells of marine organisms

   B.  oil

   C.  decomposers

   D.  fertilizer

   E.  the atmosphere

7.  The phenomenon in which high levels of carbon dioxide cause global warming is known as:
   A.  the Gaia hypothesis.
   B.  acid deposition.
   C.  the greenhouse effect.
   D.  global distillation.
   E.  the El Niño--Southern Oscillation.

8.  Which of the following is NOT a carbon sink?
   A.  limestone sediment
   B.  trees
   C.  the atmosphere
   D.  coal stored in the Earth’s crust
   E.  oil and natural gas stored in the Earth’s crust
9.  Nitrogen is essential for living organisms to make:
   A.  lipids.
   B.  proteins.
   C.  carbohydrates.
   D.  sulfates.
   E.  benzene rings.
10.  Nitrogen gas accounts for what percentage of the atmosphere?
   A.    1%
   B.    7%
   C.  55%
   D.  78%
   E.  99%
11.  What is the first step in the nitrogen cycle, in which gaseous nitrogen is converted into ammonia?
   A.  nitrification
   B.  ammonification
   C.  assimilation
   D.  denitrification
   E.  nitrogen fixation
12.  What part of the nitrogen cycle deals with the conversion of nitrogen in waste products or dead organisms into ammonia?
   A.  nitrification
   B.  ammonification
   C.  assimilation
   D.  denitrification
   E.  nitrogen fixation
13.  The process where some bacteria remove nitrate from the soil by converting it to nitrogen gas is:
   A.  nitrification.
   B.  ammonification.
   C.  assimilation.
   D.  denitrification.
   E.  nitrogen fixation.
14.  The step in the nitrogen cycle where bacteria convert ammonia (NH3) to nitrate (NO3-) is:
   A.  nitrification.
   B.  ammonification.
   C.  assimilation.
   D.  denitrification.
   E.  nitrogen fixation.
15.  The step in the nitrogen cycle where plants take up nitrate and use it to make biological molecules is:
   A.  nitrification.
   B.  ammonification.
   C.  assimilation.
   D.  denitrification.
   E.  nitrogen fixation.
16.  The phosphorus cycle differs from the carbon cycle in that:

   A.  there is little or no human impact on the phosphorus cycle.

   B.  phosphorus is not a critical component of living organisms.

   C.  the hydrosphere contributes to part of the phosphorus cycle.

   D.  the atmosphere does not contribute to part of the phosphorus cycle.

   E.  plants play a role in the carbon cycle, but have no role in the phosphorus cycle.

17.  One human impact on the phosphorus cycle occurs through:

   A.  burning of fossil fuels.

   B.  the use of fertilizers.

   C.  the greenhouse effect.

   D.  global warming.

   E.  depletion of the ozone layer.

18.  Which of the following processes plays an important role in the phosphorus cycle?

   A.  erosion

   B.  assimilation

   C.  combustion

   D.  cell respiration

   E.  ammonification

19.  Water that seeps downward through the soil and rock:

   A.  spends a few years underground and then returns to the surface.

   B.  is no longer part of the hydrologic cycle. 

   C.  becomes groundwater.

   D.  is part of the process known as transpiration.

   E.  must move into the ocean before returning to the surface.

20.  Transpiration occurs in:

   A.  oceans.

   B.  groundwater.

   C.  the atmosphere.

   D.  animals.

   E.  terrestrial plants.

21.  Which of the following surfaces has the highest albedo?

   A.  glaciers

   B.  forests

   C.  the ocean

   D.  buildings

   E.  pavements

22.  The primary reason we have seasons is because of the:
   A.  Earth's rotation.
   B.  Earth's orbit.
   C.  Earth's tilt on its axis.
   D.  density of the Earth's atmosphere.
   E.  layers of the Earth's atmosphere.
23.  Stratospheric ozone is important because it:
   A.  absorbs UV radiation.
   B.  is what we breathe.
   C.  runs the weather cycle.
   D.  is an industrial pollutant.
   E.  is part of the troposphere.
24.   If the temperature of the troposphere decreases with increasing altitude by about 6(C for every kilometer, then the temperature at the outermost edge of this layer is approximately     ?     lower than at the Earth’s surface.

   A.     0(C 

   B.     6(C 

   C.   60(C 

   D.  200(C 

   E.  600(C

25.  The thermosphere:
   A.  is the layer of atmosphere closest to the Earth’s surface.
   B.  extends to a height of approximately 35 km.
   C.  is characterized by relatively stable temperatures.
   D.  is characterized by steadily increasing temperatures.
   E.  is the layer where weather, including most clouds and wind, occurs.
26.  The circulation of the atmosphere is called:
   A.  a gyre.
   B.  wind.
   C.  climate.
   D.  temperature streaming.
   E.  upwelling.

27.  Which of the following does NOT describe major surface winds that blow more or less continually? 

   A.  prevailing winds
   B.  polar easterlies
   C.  westerlies
   D.  trade winds
   E.  Coriolis
28.  El Niño—Southern Oscillation events:   

   A.  are responsible for dramatic increases in the productivity of  fisheries off South America. 

   B.  reach coastal areas of Peru around mid-summer.

   C.  occur once or twice every century.

   D.  alter both ocean and atmospheric circulation patterns.

   E.   have little impact on marine organisms, but devastating effects on terrestrial weather patterns.

29.  Weather incorporates all of the following atmospheric conditions EXCEPT:  

   A.  atmospheric pressure.

   B.  latitude

   C.  cloudiness.

   D.  humidity.

   E.  wind.
30.  Subduction occurs:
   A.  when ozone is struck by cosmic radiation.
   B.  when one tectonic plate descends below another.
   C.  because of the Coriolis effect.
   D.  on the leeward side of a mountain.
   E.  as the result of volcanic eruptions or earthquakes.
